Received: 03/26/1998 Status: CANCELLED Effective Date: 04/01/1998

..DID: 2676

..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV

COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 14

INITIAL EFFECTIVE DATE: 04/01/98

STAMPS:

Cancelled by Statement NGV Number 15 Effective 05/01/1998

RECEIVED: 03/26/98 STATUS: Cancelled EFFECTIVE: 04/01/98

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per o Therm Equi	Cei Gal. per	rket Based ling Rate per Gal. n Equivlnt		le Natural icle Rate- per Gal. Equivlnt	
Category 1A	A \$0.73182	\$0.834	\$0.89959	\$1.026	\$0.75978	\$0.866
Category 1E	B \$0.73182	\$0.834	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 10	C \$0.73182	\$0.834	\$0.93901	\$1.071	\$0.83933	\$0.957
Category 2A	A \$0.75216	\$0.858	\$0.89959	\$1.026	\$0.78011	\$0.890
Category 2E	B \$0.75216	\$0.858	\$1.39053	\$1.586	\$1.18013	\$1.346
Category 20	C \$0.75216	\$0.858	\$0.93901	\$1.071	\$0.85967	\$0.980
W I T	Н	C O M	I P R	E S	S I O	N :
Category 3A	A \$0.62196	\$0.709	\$0.89959	\$1.026	\$0.89959	\$1.026
Category 3E	B \$0.62196	\$0.709	\$1.39053	\$1.586	\$0.99973	\$1.140
Category 3C	C \$0.62196	\$0.709	\$0.93901	\$1.071	\$0.91693	\$1.046
W I T	H O U T	С	О М Р	R E	S S I O	и :
Category 3A	A \$0.60162	\$0.686	\$0.89959	\$1.026	\$0.89959	\$1.026
Category 3B	B \$0.60162	\$0.686	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 30	C \$0.60162	\$0.686	\$0.93901	\$1.071	\$0.89659	\$1.022
Category 4	\$0.75216	\$0.858	\$0.89959	\$1.026	\$0.78011	\$0.890

Issued By: George E. Bonner, Vice President, Binghamton, New York
(Name of Officer, Title, Address)

STATEMENT TYPE: NGV STATEMENT NO: 14

PAGE: 2

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate-	Market Ceiling			e Natural cle Rate-	
	per per (Therm Equiv	Gal. per	per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.56036		.95003	\$1.083	\$0.80266	\$0.915
Category 1B	\$0.56036		.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.56036	\$0.639 \$0	.86864	\$0.990	\$0.77600	\$0.885
Category 2A	\$0.58067	\$0.662 \$0	.95003	\$1.083	\$0.82297	\$0.938
Category 2B	\$0.58067	\$0.662 \$1	.39053	\$1.586	\$1.18010	\$1.346
Category 2C	\$0.58067	\$0.662 \$0	.86864	\$0.990	\$0.79631	\$0.908
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.49868	\$0.569 \$0	.95003	\$1.083	\$0.81142	\$0.925
Category 3B	\$0.49868	\$0.569 \$1	.39053	\$1.586	\$0.99971	\$1.140
Category 3C	\$0.49868	\$0.569 \$0	.86864	\$0.990	\$0.86864	\$0.990
W I T H	О И Т	СО	M P	R E	S S I O	N :
Category 3A	\$0.47837	\$0.545 \$0	.95003	\$1.083	\$0.79111	\$0.902
Category 3B	\$0.47837	\$0.545 \$1	.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.47837	\$0.545 \$0	.86864	\$0.990	\$0.86864	\$0.990
Category 4	\$0.58067	\$0.662 \$0	.95003	\$1.083	\$0.82297	\$0.938

Effective Date: 01/01/12

STATEMENT TYPE: NGV STATEMENT NO: 14

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

_	Floor Rate-	Market BasedCeiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per Ga Therm Equiv	al. per per Gal.	per per Gal. Therm Equivlnt	
Category 1A	\$0.77056	\$0.879 \$0.96977	\$1.106 \$0.81943	\$0.934
Category 1B	\$0.77056	\$0.879 \$1.39053	\$1.586 \$1.15979	\$1.322
Category 1C	\$0.77056	\$0.879 \$0.89457	\$1.020 \$0.79934	\$0.911
Category 2A	\$0.79068	\$0.902 \$0.96977	\$1.106 \$0.83955	\$0.957
Category 2B	\$0.79068	\$0.902 \$1.39053	\$1.586 \$1.17991	\$1.345
Category 2C	\$0.79068	\$0.902 \$0.89457	\$1.020 \$0.81946	\$0.934
WIT	Н	C O M P R	E S S I O	N :
W I I	11	C O M F K		14 .
Category 3A	\$0.60890	\$0.694 \$0.96977	\$1.106 \$0.92294	\$1.052
Category 3B	\$0.60890	\$0.694 \$1.39053	\$1.586 \$0.99952	\$1.140
Category 3C	\$0.60890	\$0.694 \$0.89457	\$1.020 \$0.89457	\$1.020
W I T H	O U T	C O M P	R E S S I O	и :
Category 3A	\$0.58878	\$0.671 \$0.96977	\$1.106 \$0.90282	\$1.029
Category 3B	\$0.58878	\$0.671 \$1.39053	\$1.586 \$0.97940	\$1.117
Category 3C	\$0.58878	\$0.671 \$0.89457	\$1.020 \$0.89457	\$1.020
Category 4	\$0.79068	\$0.902 \$0.96977	\$1.106 \$0.83955	\$0.957

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u>
(Name of Officer, Title, Address)

STATEMENT TYPE: NGV

STATEMENT NO: 14 PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate		ket Based Ling Rate		le Natural icle Rate-	
	per per (Therm Equiv		per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.79037	\$0.901	\$0.94345	\$1.076	\$0.79706	\$0.909
Category 1B	\$0.79037	\$0.901	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.79037	\$0.901	\$0.82049	\$0.936	\$0.79037	\$0.901
Category 2A	\$0.81049	\$0.924	\$0.94345	\$1.076	\$0.81718	\$0.932
Category 2B	\$0.81049	\$0.924	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.81049	\$0.924	\$0.82049	\$0.936	\$0.81049	\$0.924
W I T	Н	C O M	P R	E S	S I O	n :
	+0 51000	ho coc	+0.04045			** 0.50
Category 3A	\$0.61039	\$0.696	\$0.94345	\$1.076	\$0.93704	\$1.068
Category 3B	\$0.61039	\$0.696	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.61039	\$0.696	\$0.82049	\$0.936	\$0.82049	\$0.936
W I T H	O U T	С	O M P	R E	S S I O	N :
Category 3A	\$0.59027	\$0.673	\$0.94345	\$1.076	\$0.91692	\$1.046
Category 3B	\$0.59027	\$0.673	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.59027	\$0.673	\$0.82049	\$0.936	\$0.82049	\$0.936
Category 4	\$0.81049	\$0.924	\$0.94345	\$1.076	\$0.81718	\$0.932

STATEMENT TYPE: NGV STATEMENT NO: 14

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate		ket Based ling Rate		le Natural icle Rate-	
	per per (Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.79037	\$0.901	\$0.98731	\$1.126	\$0.83434	\$0.951
Category 1B	\$0.79037	\$0.901	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.79037	\$0.901	\$0.87975	\$1.003	\$0.79037	\$0.901
Category 2A	\$0.81049	\$0.924	\$0.98731	\$1.126	\$0.85447	\$0.974
Category 2B	\$0.81049	\$0.924	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.81049	\$0.924	\$0.87975	\$1.003	\$0.81049	\$0.924
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.61039	\$0.696	\$0.98731	\$1.126	\$0.92493	\$1.055
Category 3B	\$0.61039	\$0.696	\$1.39053	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.61039	\$0.696	\$0.87975	\$1.003	\$0.87975	\$1.003
WITH	I O U T	С	O M P	R E	S S I O	N :
Category 3A	\$0.59027	\$0.673	\$0.98731	\$1.126	\$0.90481	\$1.032
Category 3B	\$0.59027	\$0.673	\$1.39053	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.59027	\$0.673	\$0.87975	\$1.003	\$0.87975	\$1.003
Catagory 1	ėn 91040	¢0 024	čn no721	č1 10 <i>6</i>	ĊO 05447	ċ0 074
Category 4	\$0.81049	\$0.924	\$0.98731	\$1.126	\$0.85447	\$0.974

STATEMENT TYPE: NGV STATEMENT NO: 14

PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

April 1, 1998

Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

_	Floor Rate	Market Based Ceiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per Ga Therm Equivl	al. per per Gal.	per per Gal. Therm Equivlnt	
Category 1A	\$0.63050	\$0.719 \$0.95003	\$1.083 \$0.80266	\$0.915
Category 1B	\$0.63050	\$0.719 \$1.39053	\$1.586 \$1.15979	\$1.322
Category 1C	\$0.63050	\$0.719 \$0.86864	\$0.990 \$0.77600	\$0.885
Category 2A	\$0.65062	\$0.742 \$0.95003	\$1.083 \$0.82278	\$0.938
Category 2B	\$0.65062	\$0.742 \$1.39053	\$1.586 \$1.17991	\$1.345
Category 2C	\$0.65062	\$0.742 \$0.86864	\$0.990 \$0.79612	\$0.908
W I T	Н	C O M P R	E S S I O	N :
Category 3A	\$0.43211	\$0.493 \$0.95003	\$1.083 \$0.95003	\$1.083
Category 3B	\$0.43211	\$0.493 \$1.39053	\$1.586 \$0.99952	\$1.140
Category 3C	\$0.43211	\$0.493 \$0.86864	\$0.990 \$0.86864	\$0.990
W I T H	O U T	C O M P	R E S S I O	и :
Category 3A	\$0.41199	\$0.470 \$0.95003	\$1.083 \$0.94178	\$1.074
Category 3B	\$0.41199	\$0.470 \$1.39053	\$1.586 \$0.97940	\$1.117
Category 3C	\$0.41199	\$0.470 \$0.86864	\$0.990 \$0.86864	\$0.990
Category 4	\$0.65062	\$0.742 \$0.95003	\$1.083 \$0.82278	\$0.938